Esegui in colonna con la prova (per moltiplicazioni e divisioni puoi usare la prova del 9)

78.934,24 + 8,3 + 231,099 =
75.602,3 — 820,145 =
189 - 68,892 =

1,78x6,3 =
45,8x73,9=
0,78 x2,69 =

56,902:7 =
89,063:37 =
127,61:54 =

5,984 :7 =
18,089 : 36 =
9,789 : 14 =

Mi fermo quando ho
resto zero
3480:64 =

Esegui in colonna con la prova (per moltiplicazioni e divisioni puoi usare la prova del 9)

78.934,24 + 8,3 + 231,099 =
75.602,3 — 820,145 =
189 - 68,892 =

1,78x6,3 =
45,8x73,9 =
0,78 x2,69 =

56,902:7 =
89,063 :37 =
127,61:54 =

5,984 :7=
18,089 :36 =
9,789 :14 =

Mi fermo quando ho
resto zero
3480:64 =

Esegui in colonna con la prova (per moltiplicazioni e divisioni puoi usare la prova del 9)

78.934,24 + 8,3 + 231,099 =
75.602,3 — 820,145 =
189 - 68,892 =

1,78 x6,3 =
45,8 x 73,9 =
0,78 x 2,69 =

56,902:7 =
89,063 :37 =
127,61:54 =

5,984 :7=
18,089 :36 =
9,789 :14 =

Mi fermo quando ho
resto zero
3480:64 =

Esegui in colonna con la prova (per moltiplicazioni e divisioni puoi usare la prova del 9)

78.934,24 + 8,3 + 231,099 =
75.602,3 — 820,145 =
189 - 68,892 =

1,78 x6,3 =
45,8x73,9=
0,78 x2,69 =

56,902 :7 =
89,063 :37 =
127,61:54 =

5,984 :7 =
18,089 : 36 =
9,789 :14 =

Mi fermo quando ho
resto zero
3480:64 =

Esegui in colonna con la prova (per moltiplicazioni e divisioni puoi usare la prova del 9)

78.934,24 + 8,3 + 231,099 =
75.602,3 — 820,145 =
189 - 68,892 =

1,78x6,3 =
45,8x73,9=
0,78 x2,69 =

56,902 :7 =
89,063 : 37 =
127,61 :54 =

5,984 :7=
18,089 : 36 =
9,789 :14 =

Mi fermo quando ho
resto zero
3480:64 =

Esegui in colonna con la prova (per moltiplicazioni e divisioni puoi usare la prova del 9)

78.934,24 + 8,3 + 231,099 =
75.602,3 — 820,145 =
189 - 68,892 =

1,78x6,3 =
45,8x73,9=
0,78 x2,69 =

56,902 :7 =
89,063 : 37 =
127,61 :54 =

5,984 :7 =
18,089 : 36 =
9,789 :14 =

Mi fermo quando ho
resto zero
3480:64 =

Esegui in colonna con la prova (per moltiplicazioni e divisioni puoi usare la prova del 9)

78.934,24 + 8,3 + 231,099 =
75.602,3 — 820,145 =
189 - 68,892 =

1,78x6,3 =
45,8x73,9=
0,78 x2,69 =

56,902 :7 =
89,063 :37 =
127,61:54 =

5984:7=
18,089 : 36 =
9,789:14 =

Mi fermo quando ho
resto zero
3480:64 =

Esegui in colonna con la prova (per moltiplicazioni e divisioni puoi usare la prova del 9)

78.934,24 + 8,3 + 231,099 =
75.602,3 — 820,145 =
189 - 68,892 =

1,78 x6,3 =
45,8x73,9=
0,78 x2,69 =

56,902 :7 =
89,063 :37 =
127,61:54 =

5984:7=
18,089 : 36 =
9,789:14 =

Mi fermo quando ho
resto zero
3480: 64 =




